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b) State and explain briefly desirable and undesirable dynamic characteristics.

c) List out active transducers.
d) State the characteristics of rnanometer fluid.
e) List out contactless electrical tachometers.

PART-B

Code No: 117EA

Explain the construction and

capacity pickup transducer.
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(50 Marks)

*iT tf *"nt systerii, |.nd explain a$giu{.yarious

various types of effors in measurements. Is+5]

principle of LVDT with a neat diagram and compare it with
u0l
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0,. ....IVhat is the.relationship between.the rotationa-l pP:d ga mq'$1*i"g rate ofp{gQ.o-scope

i',:. l::.hirected onio.d:'single radiallir.rdrk on the rotdtih!.wheel? t''1" :".i i ':. ::.[3]

g) State the factors to be considered for the selectiou of material used in strain gauges.

h) Draw the neat diagram of Sling psychrometer and mention components.

i) State any two merits of closed loop control systems.

j)., ,":Distinguish'between servorne.Qhqrism and pry991s control. 
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OR
3.a) Draw the block diagram of first order system. Derive the equation of transfer operator for

the first order system.
iii) 1..:oerive the $ib{rlj,-state' ' "'i) 
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Part A is .c.ompulsory which .carries 25 ry*.s.: _Answer

iwer any .ing:fiill
questions in.Part. A.
brn each unii,,.'Edch
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5.ir)' l"'Explain thd'w<|.rking princifle'6fBimetallic ih6rhtrbmeter wit!,4 irdat diagramj',:' i"'i ^ i'':' :."i
b) A platinum resistance thermometer has a resistance of 140.5 and 100.0'O at 100 and 0'C

respectively. If its resistance becomes 305.3 'Cl when it is in contact with a hot gas,

dqtermine the temperature of the gas. Take the temperature coefficient of platinum as

o'oo39oc-1' [5+5]
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